ABM Marking Services LTD

Voice: 618-277-3773 FAX: 618-277-3782

Email: <u>abm@abmmarking.com</u>
Website: <u>http://www.abmmarking.com/</u>

Machine film

AmTopp division includes Inteplast Group BOPP Films, AmTopp Stretch Film, and AmTopp Concentrates. AmTopp manufactures machine film, hand film and specialty films for our customers.

"EL" Series Thin Gauge Machine Film

AMTOPP stretch wrap is an engineered machine film that offers the utmost performance at light gauge. Designed to provide unsurpassed cost advantage, LOADSTAR Plus renders the extra strength and stretch needed for any high-speed, fully automated stretch wrapping equipment. The film's exceptional puncture, One Side Cling / One Side No Cling, and quiet unwind make it easy to work with, and the excellent clarity allows barcode scanning at any stage in any automatic handling system.

AmTopp stretch machine film is a superior linear low-density stretch film, produced in a wide variety of gauges, thickness and widths. The films can be used on all wrapping systems.

AmTopp stretch machine film provides a low-cost solution to wrap pallets and durable environmental protection for loads. Our multiple layered films possess excellent strength, puncture resistance and stretch performance, as well as clarity and quiet unwind.

Inteplast's stretch machine film is engineered for all general purpose uses and is excellent for stretch bundling applications. Machine stretch film is also available in one-sided cling and differential cling. We have films for high speed equipment and applications that require film to pre-stretch over 250%.

- Unsurpassed pre-stretch levels
- o Premium metallocene multiple layered structure
- o Excellent down-gauge film
- o Superior load holding force
- o One Side Cling / One Side No Cling
- o Outstanding puncture and tear resistance
- o Easy and quick release for high speed wrappers
- o Clear optics
- o Quiet unwind
- o High tensile strength
- Lowest unit cost = Best economic value
- o ISO 9001:2008 Certified





Product	Thickness (Ga)	Width (Inch)	Width (cm)	Length (Feet)	Net Wt/ Roll (Lb)	Rolls/ Pallet	Net Pallet Wt (Lb)
ELB0401979000AM-40	40	19.7	50	9,000	28.37	40	1,135
ELB0441977500GN-50	44	19.7	50	7,500	26.00	50	1,300
ELB0471979000AM-40	47	19.7	50	9,000	33.33	40	1,333
ELB0511979000AM-40	51	19.7	50	9,000	36.17	40	1,447
ELB0551976000AM-50	55	19.7	50	6,000	26.00	50	1,300
ELB0611975000AM-50	61	19.7	50	5,000	24.03	50	1,202
ELB0631977500AM-40	63	19.7	50	7,500	37.23	40	1,489
ELB0632957500AM-20	63	29.5	75	7,500	55.76	20	1,115
ELB0701976500AM-40	70	19.7	50	6,500	35.85	40	1,434
ELB0702956500AM-20	70	29.5	75	6,500	53.69	20	1,074
ELB0801975000AM-40	80	19.7	50	5,000	31.52	40	1,261
ELB1151973500AM-40	115	19.7	50	3,500	31.72	40	1,269

AmTopp APEX Engineered Machine Film | APEX Series

Utilizing a base of leading Metallocene resins, Apex offers savings through superior performance. It is a very machine friendly film that replaces thicker, obsolete films. Apex redefines the industry standard gauge. The AM series features a 1 Side Cling / 1 Side No Cling skin package.

- o One Side Cling / One Side No Cling
- o Load unitizing Strength
- Toughness
- o Puncture resistance
- Excellent Clarity

o ISO 9001:2008 Certified

Product	Thickness (Ga)	Width (Inch)	Length (Feet)	Net Wt/ Roll (Lb)	Rolls/ Pallet	Net Pallet Wt (Lb)
AML-2039	39	20	9,000	28.1	40	1,123
AML-3039	39	30	9,000	42.1	20	842
AML-2043	43	20	9,000 31.0		40	1,238
AML-2047	47	20	7,500	28.2	40	1,128
AML-2051	51	20	7,000	28.6	40	1,142
AML-2055	55	20	6,500	28.6	40	1,144
AML-2059	59	20	6,000	28.3	40	1,133
AML-2063	63	20	6,000	30.2	40	1,210
AML-3063	63	30	6,000	45.4	20	907
AML-2071	71	20	5,000	28.4	40	1,136
AML-3071	71	30	5,000	42.6	20	852
AML-2089	89	20	4,000	28.5	40	1,139
AML-3089	89	30	4,000	42.7	20	854
AML-20106	106	20	3,750	31.8	40	1,272

AmTopp X-Treme Machine Film | EH Series

Inteplast's technologically advanced, multiple-layered structured cast film has superior strength and stretch, allowing maximum load-holding force and minimum film usage.

AmTopp X-Treme film features a 1 Side Cling / 1 Side No Cling skin package, making the film ideal for many one-sided cling applications. The film's quiet unwind and clarity

makes AmTopp X-Treme stretch film the ideal choice in any automated operation environment.

X-Treme stretch film is a High Performance Plus machine film. Designed for use on high-speed automatic stretch wrapping equipment, the AmTopp X-Treme EH film renders the extra stretch and strength needed in fully automated operations. In addition, the film's high clarity allows bar-code scanning at any stage of handling.

Features

- Newest multiple layered structure
- Excellent stretch
- High tensile strength
- Superior load holding force
- One side cling/one side no cling
- Outstanding puncture resistance
- Exceptional tear resistance
- o Great optical clarity for electronic
- o scanning
- o ISO 9001:2008 Certified

AMTOPP X-TREMETM stretch wrap is a High Performance machine wrap. Designed for use on high-speedautomatic stretch wrapping equipment, the AMTOPP X-TREMETM "EH" film renders the extra stretch and strength needed for fully automated operations. The film's one side cling/one side no cling and quiet unwind make it easy to work with, and the excellent clarity allows bar-code scanning at any stage in any automatic handling system.

Product	Thickn ess (Ga)	Width (Inch)	Length (Feet)	Net Wt/ Roll (Lb)	Rolls/ Pallet	Net Pallet Wt (Lb)
EHB0552008000AM-40	55	20"	8,000'	35.2	40	1,408
EHB0602007500AM-40	60	20"	7,500'	36.0	40	1,440
EHB0632005000AM-50	63	20	5,000'	25.2	50	1,260

EHB0633005000AM-40	63	30	5,000'	37.8	40	945
EHB0702005000AM-40	70	20	5,000'	28.0	40	1,120
EHB0702006500AM-40	70	20	6,500'	36.4	40	1,456
EHB0703006500AM-40	70	30	6,500'	54.6	40	1,092
EHB0752005000AM-40	75	20	5,000'	30.0	40	1,200
EHB0802005000AM-40	80	20	5,000'	32.0	40	1,280
EHB0802006000AM-40	80	20	6,000'	38.4	40	1,536
EHB0803006000AM-40	80	30	6,000'	57.6	40	1,152
EHB0902005000AM-40	90	20	5,000'	36.0	40	1,140
EHB1152003500AM-40	115	20	3,500'	32.2	40	1,288

AmTopp High-Performance Machine Film | EP Series

AmTopp High-Performance Machine Film is engineered for all general purpose applications. This Inteplast stretch film offers excellent puncture and tear resistance, with high clarity and stretch.

AmTopp High Performance Machine Film performs up to 250% maximum pre-stretch depending on the application. It features an differential cling package, with superior inside and minimal outside cling. This cast, co-extruded film is excellent for use on conventional machinery on all load types, including both hot and cold environments. AmTopp High Performance EP film is also suitable for stretch bundling applications.

- High elongation
- Excellent puncture and tear resistance
- Very good holding force
- o Suitable for a wide range of General applications
- o Performs up to 250% maximum pre-stretch depending on the application.

o ISO 9001:2000 Certified

Product	Thickness (Ga)	Width (Inch)	Length (Feet)	Net Wt/ Roll (Lb)	Rolls/ Pallet	Net Pallet Wt (Lb)
EPB0702005000AM- 40	70	20"	5,000'	28.0	40	1,120
EPB0702006000AM-40	70	20"	6,000'	33.6	40	1,344
EPB0702006500AM-40	70	20"	6,500°	36.4	40	1,456
EPB0752005000AM-40	75	20"	5,000'	30.0	40	1,200
EPB0752006000AM-40	75	20"	6,000'	36.0	40	1,440
EPB0802005000AM - 40	80	20"	5,000'	32.0	40	1,280
EPB0802006000AM - 40	80	20"	6,000'	38.4	40	1,536
EPB0803005000AM -20	80	30"	5,000'	48.0	20	960
EPB0803006000AM- 20	80	30"	6,000°	57.6	20	1,152
EPB0804005000AM -16	80	40"	5,000'	64.0	16	1,024
EPB0805005000AM -16	80	50"	5,000'	80.0	16	1,280
EPB0806005000AM-16	80	60"	5,000'	96.0	16	1,536
EPB0902005000AM -40	90	20"	5,000'	36.0	40	1,440
EPB0903005000AM - 20	90	30"	5,000'	54.0	20	1,080
EPB1102004000AM -40	110	20"	4,000'	35.2	40	1,408
EPB1152003500AM-40	115	20"	3,500'	32.2	40	1,288
EPB1153003500AM-20	115	30"	3,500'	48.3	20	966

AmTopp UVI High-Performance Machine Film | EU Series

AmTopp UVI High-Performance Machine Film is designed to inhibit degradation caused by ultraviolet rays on product loads. AmTopp UVI High-Performance Machine Film can be used for mulch, brick and other industry products that are stored outdoors.

Inteplast also offers colored stretch film. Please contact us for inventory availability.

Features

- o "ET/HT" Series Tinted General Purpose Films
- o "EU" Series Ultraviolet Protective Film
- o "EXB" Series Designed exclusivley for PET Bottling Industry
- o ISO 9001:2000 Certified

Color Tinted Machine Film

Item Number	Film Color	Thickness (Ga)	Width (Inch)	Feet/ Roll	Net Wt/ Roll (Lb)	Rolls/ Pallet	Net Pallet Wt (Lb)
ETK0802005000AM-40	Black	80	20"	5,000'	32.0	40	1,280
ETL0802005000AM-40	Blue	80	20"	5,000'	32.0	40	1,280

Color Tinted Hand Film

Item Number	Film Color	Thickness (Ga)	Width (Inch)	Feet/ Roll	Net Wt/ Roll (Lb)	Rolls/ Pallet	Net Pallet Wt (Lb)
HTK0801801500AM-48	Black	80	18"	1,500'	4	34.56	48
HTL0801801500AM-48	Blue	80	18"	1,500'	4	34.56	48

Ultraviolet Protective Film

UVI Machine Film

Item Number	Film Color	Thickness (Ga)	Width (Inch)	Feet/ Roll	Net Wt/ Roll (Lb)	Rolls/ Pallet	Net Pallet Wt (Lb)
EUB0802005000AM-40	Clear	80	20"	5,000'	32.0	40	1,280

PET Bottle Film

Item Number	Film Color	Thickness (Ga)	Width (Inch)	Feet/ Roll	Net Wt/ Roll (Lb)	Rolls/ Pallet	Net Pallet Wt (Lb)
EXB0402009000AM-40	40	20"	9,000'	4	28.8	40	1,152
EXB0452009000AM-40	45	20"	9,000'	4	32.4	40	1,296

Hand Film

AmTopp cast hand film offers a clear, glossy appearance, superior stiffness and consistent differential cling. Our hand film exhibits excellent tensile strength and stretch, combined with exceptional puncture and tear resistance.

AmTopp stretch hand film is excellent for use in roping, bundling, and spiral applications. It's designed to handle regular loads, as well as B and C type loads. AmTopp stretch hand film also offers enormous down gauge opportunities, which can substantially reduce costs.

AmTopp LoadStar Thin Gauge Hand Film | HL Series

Product	Thicknes s (Ga)	Width (Inch)	Length (Feet)	Roll/ Case	Net Wt/ Case	Case/ Pallet	Net Pallet Wt (Lb)
HLB0451101500AM-80	45	11"	1,500'	4	11.88	80	950.4
HLB0451601500AM-64	45	16"	1,500'	4	17.28	64	1,105.92
HLB0451801500AM-64	45	18"	1,500'	4	19.44	64	1,244.16
HLP100400450AM-64	40	15.7"	1,476'	4	14.83	64	949.12
HLP100450450AM-64	40	17.7"	1,476'	4	16.72	64	1,070.08

HLP115400450AM-64	45	15.7"	1,476'	4	16.68	64	1,067.52
HLP115450450AM-64	45	17.7"	1,476'	4	18.81	64	1,203.84
HLP140400450AM-64	55	15.7"	1,476'	4	20.39	64	1,304.96
HLP140450450AM-64	55	17.7"	1,476'	4	22.99	64	1,471.36

AmTopp Stiff Hand Film | HS Series

AmTopp Micron Stiff Hand Film combines reduced neck down performance while maintaining excellent puncture resistance and yield.

- o Outstanding strength in the transverse direction
- o Uniform gauge profile
- o Excellent puncture resistance
- o Great optical clarity for electronic scanning
- o Reduced unwind noise
- o Ideally suited for difficult loads
- o ISO 9001:2000 Certified

Product	Film Gauge	Width (Inch)	Feet/ Roll	Roll/ Case	Net Wt/ Case	Case/ Pallet	Net Pallet Wt (Lb)
HSB0511102000AM-80	51	11"	2,000°	4	17.95	80	1,436
HSB0511601500AM-64	51	16"	1,500'	4	19.58	64	1,253.12
HSB0631101500AM-80	63	11"	1,500'	4	16.63	80	1,330.4
HSB0631601500AM-64	63	16"	1,500'	4	24.19	64	1,548.16
HSB0631601500AM-64	63	18"	1,500'	4	27.22	64	1,742.08
HSB0671801500AM-64	67	18"	1,500°	4	28.94	64	1,852.16

AmTopp Performance Hand Film | HC Series

As a high performance hand film, the "HC" series film is designed to securely unitize irregularly shaped and difficult-to-wrap loads. With cling on both sides, this three-layer, cast, co-extruded film offers superior holding force for even the toughest loads.

- o Retains a high holding force
- High tensile strength and stretch
- Excellent stretch on difficult loads
- o Consistent quality and gauge control
- o Excellent value for your film dollar
- o Dependable performance
- o ISO 9001:2000 Certified

Item number	Film Gauge	Width (Inch)	Feet/ Roll	Roll/ Case	Net Wt/ Case	Case/ Pallet	Net Pallet Wt (Lb)
HCB0601801500AM-64	60	18"	1,500'	4	25.92	64	1,658.88
HCB0701501500AM-64	70	15"	1,500'	4	25.2	64	1,612.8
HCB0701801500AM-64	70	18"	1,500'	4	30.24	64	1,935.36
HCB0801201500AM-60	80	12"	1,500'	4	23.04	60	1,382.4
HCB0801501500AM-48	80	15"	1,500'	4	28.8	48	1,382.4
HCB0801801500AM-48	80	18"	1,500'	4	34.56	48	1,658.88
HCB0901501500AM-48	90	15"	1,500'	4	32.4	48	1,555.2
HCB0901801500AM-48	90	18"	1,500°	4	38.88	48	1,866.24
HCB1101801000AM-48	110	18"	1,000°	4	31.68	48	1,520.64
HCB1151801000AM-48	115	18"	1,000°	4	33.12	48	1,589.76
HCB1201801000AM-48	120	18"	1,000'	4	34.56	48	1,658.88

AmTopp UVI Hand Film | HU Series

Features

- o "ET/HT" Series Ultraviolet Protective Film
- o "EU" Series Ultraviolet Protective Film
- o "EXB" Series Designed exclusivley for PET Bottling Industrty
- o ISO 9001:2000 Certified

Item number	Film Color	Film thickness (Ga)	Width (Inch)	Feet/ Roll	Net Wt/ Roll	Rolls/ Pallet	Net Pallet Wt (Lb)	
Color Tinted Machine Film								
ETK0802005000AM-40	Black	80	20"	5,000'	32.0	40	1,280	
ETL0802005000AM-40	Blue	80	20"	5,000'	32.0	40	1,280	
Color Tinted Hand Film								
HTK0801801500AM-48	Black	80	18"	1,500'	4	34.56	48	
HTL0801801500AM-48	Blue	80	18"	1,500'	4	34.56	48	
Ultraviolet Protective Film - UVI Machine Film								
EUB0802005000AM-40	Clear	80	20"	5,000'	32.0	40	1,280	
PET Bottle Film								
EXB0402009000AM-40	40	20"	9,000'	4	28.8	40	1,152	
EXB0452009000AM-40	45	20"	9,000'	4	32.4	40	1,296	

LoadStar Prestretched Hand Film | PS Series

AmTopp's stateof-the-art automated and semi-automated technology takes advantage of the most current highly engineered raw materials with a focused team approach to product consistency, quality and performance thereby ensuring the most cost effective unitization and load stabilization.

Item number	Gauge	Width (Inch)	Lengt h	Net Wt/ Roll	Rolls/ Pallet	Pallet Dimensions	Total Pallet Truckload	
Bulk Pack								
PSB0251501968AM-126P	25	15	1968	2.95	126	40" x 40" x 46.25" (H)	52	
PSB0301501476AM-168P	30	15	1,476	2.66	168	48" x 40" x 52.25" (H)	52	
PSB0301501968AM-126P	30	15	1,968	3.54	126	48" x 40" x 52.25" (H)	52	
PSB0301701476AM-112P	30	17	1,476	3.01	112	48" x 40" x 40.5" (H)	52	
PSB0301701968AM-84P	30	17	1,968	4.01	84	48" x 40" x 40.5" (H)	52	
PSB0381501476AM-144P	38	15	1,476	3.36	144	48" x 40" x 52.25" (H)	52	
PSB0381701476AM-96P	38	17	1,476	3.81	96	48" x 40" x 40.5" (H)	52	
Boxed Product								
PSB0301501476AM-36	30	15	1,476	10.64	36	48" x 40" x 52.25" (H)	52	
PSB0301701476AM-48	30	17	1,476	12.04	48	48" x 40" x 76" (H)	26	
PSB0381501476AM-36	38	15	1,476	13.46	36	48" x 40" x 52.25" (H)	52	
PSB0381701476AM-48	38	17	1,476	15.26	48	48" x 40" x 76" (H)	26	

ABM Marking Services LTD

Voice: 618-277-3773 FAX: 618-277-3782

Email: abm@abmmarking.com
Website: http://www.abmmarking.com/